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MR EFEDBECGICEITDMESIREREHER

FR7E3b - % /2 381407

SH3EE
B H - IR 545 ARE(RATAZ—ANEER) | gy s
5cm 50cm 100cm
OIS — 0.06 — PA-1000
1/120K)BEh QlFhiEatE — 0.06 — PA-1000
QL — 0.05 — PA-1000
OIS — 0.04 — PA-1000
7/29(R) NI QIF itz B & — 0.05 — PA-1000
QL — 0.05 — PA-1000
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MR EFEDBECGICEITDMESIREREHER

FR7E3b - % /2 381407

SH2FE
A - X1 A AERATE—ZNEER) ] g %
5¢m 50cm 100cm
OIS — 0.06 — PA-1000
10/6 (X)) BEN QlEhiEEE — 0.06 — PA-1000
QL — 0.06 — PA-1000
OIS — 0.06 — PA-1000
4/17(8) BN QI Hitr A% — 0.06 — PA-1000
QL — 0.06 — PA-1000
TRRI1ERE
AEE - X AEA AEREATRZZNIER) | s %
5¢m 50cm 100cm
ORI — 0.06 — PA-1000
10/4(£) BN QIF itz EE — 0.04 — PA-1000
QL5 — 0.07 — PA-1000
ORI — 0.06 — PA-1000
4/170K)BEHh QIF itz EE — 0.07 — PA-1000
Q- — 0.06 — PA-1000
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MR EFEDBECGICEITDMESIREREHER

FR7E3b - % /2 381407

FRL30LE
A - X1 A AERATE—ZNEER) ] g %
5cm 50cm 100cm
OIS — 0.06 — PA-1000
10/4(R)EY QB — 0.06 — PA-1000
QL — 0.07 — PA-1000
OIS — 0.07 — PA-1000
4/13(£)BEN QI Hitr A% — 0.06 — PA-1000
QL — 0.06 — PA-1000
FRR294EFE
AEE - X AEA AEREATRZZNIER) | s %
5cm 50cm 100cm
ORI — 0.06 — PA-1000
10/5(AK) BEEH QIF itz EE — 0.06 — PA-1000
QL5 — 0.06 — PA-1000
ORI — 0.07 — PA-1000
4/18 CR)EEN QIF itz EE — 0.06 — PA-1000
Q- — 0.07 — PA-1000
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MR EFEDBECGICEITDMESIREREHER

FR7E3b - % /2 381407

TR 28EE
B H - IR 545 ARE(RATAZ—ANEER) | gy s
5cm 50cm 100cm
OIS — 0.08 — PA-1000
10/6 (R)EENL QIEEEtE — 0.06 — PA-1000
QL — 0.06 — PA-1000
OIS — 0.14 — PA-1000
4/20(K)EEN QIF itz B & — 0.08 — PA-1000
QL — 0.13 — PA-1000
T2 E
B E X2 I ARE(RATAY—ANEER) | g e
5cm 50cm 100cm
ORI — 0.08 — PA-1000
10/6 CR)EEN QIF itz EE — 0.08 — PA-1000
QL5 — 0.10 — PA-1000
ORI — 0.07 — PA-1000
4/24(&)EN QIF itz EE — 0.08 — PA-1000
Q- — 0.08 — PA-1000
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MR EFEDBECGICEITDMESIREREHER

FR7E3b - % /2 381407

TR 26£E
B H - IR 545 ARE(RATAZ—ANEER) | gy s
5¢m 50cm 100cm
OIS — 0.06 — PA-1000
1/8(R)BEh QlEhiEEE — 0.09 — PA-1000
QL — 0.08 — PA-1000
OIS — 0.08 — PA-1000
10/7CR) BN QIF itz B & — 0.08 — PA-1000
QL — 0.08 — PA-1000
DRI — 0.07 — PA-1000
7/4(&)EY Qs EE — 0.09 — PA-1000
QL — 0.10 — PA-1000
DRI — 0.10 — PA-1000
490K Eh QIF itz EiE — 0.10 — PA-1000
Q- — 0.10 — PA-1000
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TR 254E B
— — BIEME (v4o02—~ L) —
/EIJIEE iﬂ; /ﬂ“/ﬁﬂﬂ,ﬁn Sem 50¢m 100¢em /,EJI}E%E ﬁ%%
O ERIHAT — 0.08 — PA-1000
3/6(KR)EN DlEeabid-F; — 0.09 — PA-1000
QL& — 0.08 — PA-1000
O ERIFAT — 0.07 — PA-1000
2/1(&)EN QlEhitzEE — 0.08 — PA-1000
QLH — 0.11 — PA-1000
- DB ERI5FT — 0.08 — PA-1000
: /i%ﬁ?gn Qi ErE — 0.09 — PA-1000
QL& — 0.10 — PA-1000
DB — 0.07 — PA-1000
1274(K)BEh QIEtEiE — 0.09 — PA-1000
QILH — 0.08 — PA-1000
DIBEI5 T — 0.08 — PA-1000
1.6 (K) BN Q@lE iz EiE — 0.09 — PA-1000
QILH — 0.10 — PA-1000
DIBELIGFT — 0.09 — PA-1000
1077(R) N Q@lE iz EiE — 0.08 — PA-1000
QILH — 0.10 — PA-1000
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R EFHOEUGICHE T OMATRERERR

FATTEMh - 8 2 3E 1407

TR 254E B
— — BIEME (v4o02—~ L) —
/EIJIEE iﬂ; /ﬂ“/ﬁﬂﬂ,ﬁn Sem 50¢m 100¢em /,EJI}E%E ﬁ%%
O ERIHAT — 0.08 — PA-1000
QIE itz E 1% — 0.09 — PA-1000
o 4(K) BY QL& — 0.09 — PA-1000
QDRET — 012 — PA-1000 BB E (REEETF D A GEME A B B 15 77)
BNF — 0.09 — PA-1000 ”
ON~>F — o1 — PA-1000 ”
DB ERI5FT — 0.09 — PA-1000
8./5(H)EY QIEtatEiE — 0.10 — PA-1000
QL& — 0.08 — PA-1000
DB — 0.08 — PA-1000
773(K)£Y QIEtEiE — 0.09 — PA-1000
QILH — 0.08 — PA-1000
DIBEI5 T — 0.09 — PA-1000
6.75(K) BN Q@lE iz EiE — 0.10 — PA-1000
QILH — 0.10 — PA-1000
DIBELIGFT — 0.11 — PA-1000
5/170K) BN Q@lE iz EiE — 0.10 — PA-1000
QILH — 0.09 — PA-1000
DIBERIGFT — 0.10 — PA-1000
417(7K)£Y QlF i EiE — 0.09 — PA-1000
QILH — 0.09 — PA-1000
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AIEFER (FEp23~24F )

T 23 ~244E
i — AIEE (/9O —X LR —
AER- X BT AR AR ZMEER) | pes fi
5cm 50cm 100cm
3/5(R)EN EhhiER (L) — 0. 08 — PA-1000
2/5(R)EN Eh b ER (L) — 0. 20 — PA-1000
1 /Tg%gfiﬂ%h Bt ER () — 0. 20 — PA-1000
12/5(K)BEh Bt ER () — 0. 21 — PA-1000
11./8(K)En Eh b ER (L) — 0.19 — PA-1000
10./3(K)EY o LER (L) — 0. 21 — PA-1000
9./5(K) BN Eh b ER (L) — 0.19 — PA-1000
8./3(%) Bh Eh b ER (L) — 0.24 — PA-1000
7740K) Bh Eh b ER (L) — 0.27 — PA-1000
6/11(H) £Y Eh b ER (L) — 0. 23 — PA-1000
5/710(K) BEh o ER () — 0. 23 — PA-1000
4/13(%) Bh B ER () — 0.24 — PA-1000
3.712(R) BEhn B ER () — 0. 26 — PA-1000
2/6(R) £Y B ER () — 0. 26 0. 25 PA-1000
T 244 R ~
1L 12(K) B EiihdhER (L) — 0. 30 0. 29 PA-1000
12/78(K) =Y B ER (L) — 0. 25 0. 23 PA-1000
- SHBE/NEB R — 0. 36 — PA-1000
11/18(£) £
() ) SHB/NE TR — 0. 31 — PA-1000
11.790K) Bh B ER (L) — 0. 32 0. 31 PA-1000
10 /z'zzﬁigﬁs%;u b E (L) — 0. 32 — PA-1000
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